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The two-way table gives some information about how 100
children travelled to school one day.
Walk Car Other Total
0
Boy 15 25 14 >4 L 5%
4 b
Girl 22 8 16 46
Total 37 33 3() 100
(a) Complete the two-way table.
(3)

One of the children is picked at random.

(b) Write down the probability that this child walked to
school that day.

fﬂsPudlefl{s wol ke outof [00.%remember Probabili +
wnklen gs o Frchon
dlecimal (not o %)%

(1)
(Total 4 marks)
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Ali asked 200 students which sport they like best. They
could choose swimming or tennis or athletics.

The two-way table shows some information about their

answers.
Swimming | Tennis | Athletics Total

Female | /, 3 25 19 DT
Male 36 42 A5 1173
Total 79 Gt 54 200

Complete the two-way table.

29 200 F9
*54 ’|35 36
o7 43 75 35
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3 ¢g,+ L|.5 3¢ (Total 3 marks)
49 71 20 A
lo\ ?3% | edwouns ke to
[\ de & ohadk. W
M. botal ' o andl
column .
BF+L1%= -200V

39+ 6F+ Slp= 200V
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A teacher askeqg 30 gtudents if they had a school lunch or
a packed lunch or if they went home at lunch.

17 of the students were boys v
4 of the boys had a packed lunch /
7 girls had a school lunchv’

IV
S A
Q)éu-’s;ﬁib 3 of the 5 students who went home were boys/

X ¥ Work out the number of students who had a packed lunch

PackeD | S anooL
 LUNCH ‘LUNM HOME [TOTAL ZEXJ;,I)@[%)Q{?
o vk LoGK L
Boys | &4 |10 [ 3 | 1T o use ik
Cll:’Eﬁ | & 7 | 2 ‘13
YR s
Ftlr+5:=307
Jhe numes of studnts who hod o%(;admdw
LIRS
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Janice asks 100 students if they like biology or chemistry
or physics best.

38 of the students are girls.
21 of these girls like biology best.
18 boys like physics best.

7 out of the 23 students who like chemistry best are
girls.

Work out the number of students who like biology best.
| |
\?)1010@ Y Cl«ej\m@ Pk&m Total

Bys | 23 |16 | 13 | &2

(uds ol /£ 10 | 33

Toball 49 23 23 \ 100

mtjdr\ecks -
L2+38 =100

A+93+42AT =100

Yhe. rumber of students who Liks. isloay
best \s LA
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